W AT X

30
owwme@ e - .- - -
%E — - — =g 2l - pW=900- (81)— - —— - %
A Ok =864 (774)
30 BR=1,764 (1,584) 30
Boh=1,824 (1, 644)
Wit R [BUENE] WAt ER (RER T L—IL]
A ] =LA RS
E | Ii EH T RN
4[ 5 — - 4[ A - = 113
?‘ Py =1 5 B Timiz K= 7207 —RhYIRAHNE 31'M% 7,_0 5 384849}
% % < 113 B (B s — % % ©
L posit || | | Log) | | 0wl vossossvsseoss
—152.5152. 5[ _
8 8 REff 1T L— LBt A&
3030 105 30|130 Lo < Y-
™| |~ B — ‘ — ™| N o . P
194119 > 3| 3 - 73 | 73 19][19 o 3| 9 F Lo < Y¥nm
= ] T T = i —
. TRaR % g — e TR - B
I B T K =
/| = & & . ©
1k o % BEFEE s 7| ~
105 BX i %%
29.18.8 29.2 8.829.1
1 T 1] b=b
f[ = A BROFLo<CYt a2 —H
KEMfTE 2 —I12HB&S5IC
) MMEBEROZLFEFT,
BEE DOORETUS R EME Y E SeALE 1/5 °ATE 20250701
KL&Z H03I&&VF (L—81F) BEATIMIE 3HR+RENE S KEFMIFL—L _ \ — —
& v ok TJoY ' 01
(25,7 ,30 E0RI)




